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I Attempt any three parts :

(a) Find the equation of a line which passes through the
point (-1, 3, 7) and moves in the direction (5, -1, -8) in
symmetric form. 5

PTO.
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(6)  Determine whether the set of vectors :

={(1,1), (1, 2)}
_Lforms a basis for R? ? 5
()  Find the standard matrix for the linear transformation
T : R* - R? defined by : 5

Tix, y. 2) = (v, z. x).

{d)  Find the characteristic equation of the mawrix ©* '3

1 2
0 -4
0 0

=~ MW

Attempt any three parts :

{¢v)  Find the gencral term of the following sequences : §

, 2468

(l) 5$11 17 23 .....

p 1111

(i 71001

nt]™ .
(b) Find the limit of the sequence {—;} using Sandwich
not

theorem.

o
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(¢)  Using comparison test, determine whether the following

series converge : 5

&S (2n- l)"
min(n+1)(n+2)

(d)  Test the convergence of the series - 5

“'n2—1 " R
§n2+1 x>0

Attempt any fwo parts :
(@) Define Fibonacci numbers. Write a ‘SPARKS’ program to

print the value of the nth Fibonacci value . 3%

y, 2
PR L

() Find the gréatest common divisor“oi.' the pair :
(30, 75). 34
()  Show that fin) = 207 — 645 +10#% ~ 5 is ‘big oh’
of n'. 3%

Attempt any nhwo parts :

(@) Find the graph for the following adjacency matrix : 4

N O w o
Ll T e B L
D e Oy
(=S X R

PT.O.
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(k) Find all the spanning trees for the graph : 4

(c) Find a minimum cost spanting tree for the following

~

graph : 4

In a game of matching coins with two players. suppose A

wins one unit of value when there are two heads, wins



(5) | 6158
nothing when there are two tails and loses ' unit of value when
there are one head and one tail. Determine the pay-off matrix,
the l;est strategies for each player, and the value of the game

to A. 5
Or

Solve the following game using the notion of dominance : 5

Player B
1 H| m
a0 20 8]
Player A n 7 5 -1
11} B 6 0 12
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